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. |. What is a filter? "2 Name the filter that has two stop bands?
:1) Frequency selective circuit : a) Band-pass filter
) Amplitude selective circuit b) Low pass filter
: ¢) Trequency damping circuit i ¢) High pass filter
5 Ll) Amplitude damping circuit t d) Band-reject filter

’5 What are f1lterb C1eatod by usmg 1es]8t01s4tht15lhev(11ueot notchhequencylt

: (md capacitors or inductors and capacitors : the values of resistance and capacitance are
: called? L 100 kV and 0.02 uF?
: a) Active filters b} Passive filters i a) 79.6Hz b) 21.5Hz
b) Continuous filters d) Differential filters i c) 82.4Hz d) 40Hz
5 In a positive clipper, the diode conducts 6. A third-order filter will have a roll off
: when f rate of
i 4) Vin < Vier b) Vin = Vier i a) 20 dB/decade b) 40 dB/decade
LR — ) None of the mentioned | ¢) 60 dB/decade | )30 dBidecade .
: 7.Storage capacitance in the PN junction is : 8. The basic purpose of filter at the output
{ due tor a) The majority carriers  of a rectifier i3 to
i h) The minority carriers : a) minimize variations in ac input signal
{ ¢)The majority and the minority carriers, : b) suppress harmonics in rectified output
: cqually d) None of these  ¢) remove ripples from the rectified output
e G S12DHIZE de outpul vOUtAZE,
£ 9. The reverse current in a diode is of the 10. An ideal crystal diode is one “which
forder of v { behaves as a perfect ........... when fowvard
f) kA b)mA cypA DA  biased.
i a) conductor b} insulator
L resistonce material, dnone of the above
: | I. If the temperature of a crystal diode 12. A cryqlal AIOAE 18 A v vvvvrerernnn: device
 increases, then leakage current ... i a) non-linear  b) bilateral
u) mmams the same b) decreases ¢) linear d) none of the above
I 5. I*md 1110 mput voltage of an ideal op amp "It’s one of the inputs and output voltages ;

Lare 2y and 12v. (Gain=3)
: a) 8v b) 4v ¢) -4v d) -2v
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g 14 For the 1deal Op amp ghown Wh m qhou]d 15 Evajuate the followmg amphﬁer circuit to

P be the value of resistor Re to obtain a gain of i ! determine the value of resistor R4 in order to obtam
i g voliage gain (vo/vi) of -120.
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i 16, For this c:rcwt : 1? For this circuit s equal.....8 is very large
i Bequal...... 1  a) 1.965mA 1o v
£ 2)900 i b) 0.65mA |
b)g dorremy 7 V )G 965mA 1o xo 1S RE
6)0.9 63V O : d)OmA L o T Ve
: d)o0 1o f .

il jxy) 15 1/ o A E

= L ™ i
..1. Py T T

: Ve, Ve and Vi respectively T
: 2)2.86v, 4,16v, 2.86v

: . “L I kil BiARY R i

. 6)1.13v, 3.91v, 461V i T

 ¢)1.13v, 2.86v, 1.16v v D
)

Ior the following circult:
E,l) The Thévenin equivalent resistance
g i [SMarks]
'a)SQ b) 100 c) 18Q d) 25€2
gk 20 Thévenin equivalent voltage: [SMarks]
a) 0.53V b) IV c) 2V d) 13 2V

Angwel the foﬂowu’lcr questmns (21 22 23 21 Consldenng ‘the etfect of the 36V source 1{
{ and 24) using superposition method for the | current in 6Q resistor is: :

d)0v, 1.13v, Ov - L

[SMarks]

: following network each one [SMarks] Pa) 2A b) 4A ¢} 8A d) 6A
: R, : 22.Considering the effect of the 9A source,
'*—“‘"N'v ! the current in 6£) resistor is:
a5 a2A bB)4A <) 8A ) 6A

= -—;—.:—Z §v g & O3 ICD o A 23.The total current in the 6€2 resistor is:

- — - ' ia)2A  b)4A c)8A d)6A

' : 24, The total power in the 6€2 resistor is: :
s L a)24W b) 240W ¢) 384W ) 216
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